


























































 

802.11a Ch105(6475 MHz) 

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

1.138  0.000 1.138  -1.427  

 
 
Note: 
 
SUM PSD(dBm/MHz) = (Ant 1 Measured Value + Ant 2 Measured Value) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Duty Factor(dB) + Measured Value (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE20 Ch.45(6175 MHz) 106 Tones RU 53

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

1.191  0.000 1.191  -1.373  

 
 
Note: 
 
SUM PSD(dBm/MHz) = (Ant 1 Measured Value + Ant 2 Measured Value) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Duty Factor(dB) + Measured Value (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE40 Ch.107(6485 MHz) 26 Tones RU 9

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

1.227  0.000 1.227  -1.338  

 
 
Note: 
 
SUM PSD(dBm/MHz) = (Ant 1 Measured Value + Ant 2 Measured Value) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Duty Factor(dB) + Measured Value (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE80 Ch.183(6865 MHz) 52 Tones RU 37

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

1.686 0.000 1.686 -1.405  

 
 
Note: 
 
SUM PSD(dBm/MHz) = (Ant 1 Measured Value + Ant 2 Measured Value) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Duty Factor(dB) + Measured Value (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE160 80_L Ch.15(6025 MHz) 106 Tones RU 60

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-5.977 0.000 -5.977 -8.541  

 
 
Note: 
 
SUM PSD(dBm/MHz) = (Ant 1 Measured Value + Ant 2 Measured Value) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Duty Factor(dB) + Measured Value (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE160 80_U Ch.15(6025 MHz) 26 Tones RU 0

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

1.263 0.000 1.263 -1.301 

 
 
Note: 
 
SUM PSD(dBm/MHz) = (Ant 1 Measured Value + Ant 2 Measured Value) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Duty Factor(dB) + Measured Value (dBm/MHz) + Directional Gain(dBi) 



802.11ax HE160 80_U Ch.15(6025 MHz) 26 Tones RU 0

Ant1 Ant2 

  
 
 

SUM PSD 
(dBm/MHz) 

Duty Cycle Factor 
(dB) 

Total PSD 
(dBm/MHz) 

EIRP PSD 
(dBm/MHz) 

-5.977 0.000 -5.977 -8.541 

 
 
Note: 
 
SUM PSD(dBm/MHz) = (Ant 1 Measured Value + Ant 2 Measured Value) (dBm) 
Total PSD (dBm/MHz) = SUM PSD(dBm) + Duty Cycle Factor (dB) 
EIRP PSD(dBm/MHz) = Duty Factor(dB) + Measured Value (dBm/MHz) + Directional Gain(dBi) 












